

## City of Fort Lauderdale

Bid #12276-592 PLANTS, TREES & PALMS, CITYWIDE

Vendor Location Local Preference P-Card GROUP A. PLANTS FOR SUPPLY, DELIVERY AND INSTALLATION			Rubio M&M Corp Homestead, FL Class D Visa			VisualScape Inc. Miami, FL Class D M/C		Runway Growers, Inc Fort Lauderdale, FL Class C Visa		Dynaserv Hollywood, FL Class D Visa, M/C		Gardening Angel Parkland, FL Class C Visa, M/C		Plant Professionals Homestead, FL Class D Visa		
Scientific Name	Common Name															
Callicarpa americana	Beautyberry	3 gal	100	\$12.00	\$	1,200.00	\$25.00	\$2,500.00	\$18.00	\$1,800.00	\$14.25	\$1,425.00	\$8.50	\$850.00	\$10.00	\$1,000.00
Clusia Rosea	Clusia	3 gal	300	\$12.50	\$	3,750.00	\$18.00	\$5,400.00	\$14.00	\$4,200.00	\$15.00	\$4,500.00	\$4.00	\$1,200.00	\$17.50	\$5,250.00
Zamia floridana	Coontie	3 gal	50	\$18.50	\$	925.00	\$40.00	\$2,000.00	\$35.00	\$1,750.00	\$25.00	\$1,250.00	\$20.00	\$1,000.00	\$30.00	\$1,500.00
		7 gal	10	\$53.50	\$	535.00	\$75.00	\$750.00	\$95.00	\$950.00	\$50.00	\$500.00	\$39.00	\$390.00	\$62.50	\$625.00
Tripsacum floridana	Dwarf fakahatchee grass	1 gal	200	\$7.50	\$	1,500.00	\$10.00	\$2,000.00	\$9.00	\$1,800.00	\$4.50	\$900.00	\$5.00	\$1,000.00	\$5.00	\$1,000.00
		3 gal	500	\$12.00	\$	6,000.00	\$15.00	\$7,500.00	\$15.00	\$7,500.00	\$10.50	\$5,250.00	\$8.50	\$4,250.00	\$8.75	\$4,375.00
Hamelia patens 'compacta'	Dwarf Firebush	3 gal	200	\$12.00	\$	2,400.00	\$15.00	\$3,000.00	\$12.00	\$2,400.00	\$9.75	\$1,950.00	\$8.50	\$1,700.00	\$8.75	\$1,750.00
		7 gal	75	\$25.50	\$	1,912.50	\$50.00	\$3,750.00	\$45.00	\$3,375.00	\$30.00	\$2,250.00	\$29.00	\$2,175.00	\$30.00	\$2,250.00
Furcraea foetida	False Agave	3 gal	200	\$22.50	\$	4,500.00	\$75.00	\$15,000.00	\$35.00	\$7,000.00	\$21.00	\$4,200.00	\$25.00	\$5,000.00	\$37.50	\$7,500.00
		7 gal	50	\$48.50	\$	2,425.00	\$150.00	\$7,500.00	\$85.00	\$4,250.00	\$50.00	\$2,500.00	\$50.00	\$2,500.00	\$75.00	\$3,750.00
Ficus microcarpa "Green Island"	Ficus "Green Island"	3 gal	10000	\$12.50		125,000.00	\$15.00	\$150,000.00	\$18.00	\$180,000.00	\$10.50	\$105,000.00	\$7.95	\$79,500.00	\$8.50	\$85,000.00
Hamelia patens	Firebush (Native)	3 gal	100	\$12.00	\$	1,200.00	\$18.00	\$1,800.00	\$15.00	\$1,500.00	\$12.00	\$1,200.00	\$8.50	\$850.00	\$13.50	\$1,350.00
Duranta erecta 'Gold Mound'	Gold mound	1 gal	500	\$13.50	\$	6,750.00	\$10.00	\$5,000.00	\$8.00	\$4,000.00	\$4.50	\$2,250.00	\$3.50	\$1,750.00	\$5.00	\$2,500.00
		3 gal	100	\$12.00	\$	1,200.00	\$17.00	\$1,700.00	\$15.00	\$1,500.00	\$9.75	\$975.00	\$8.50	\$850.00	\$10.00	\$1,000.00
Chrysobalanus icaco 'horizontal'	Horizontal cocoplum	3 gal	1000	\$17.00		17,000.00	\$30.00	\$30,000.00	\$25.00	\$25,000.00	\$21.00	\$21,000.00	\$18.00	\$18,000.00	\$17.50	\$17,500.00
Rhaphiolepus indica	Indian Hawthorn	3 gal	1000	\$12.50		12,500.00	\$20.00	\$20,000.00	\$15.00	\$15,000.00	\$10.50	\$10,500.00	\$9.00	\$9,000.00	\$12.50	\$12,500.00
Capparis cynophallophora	Jamaica Caper	3 gal	100	\$18.50	\$	1,850.00	\$25.00	\$2,500.00	\$25.00	\$2,500.00	\$16.50	\$1,650.00	\$12.00	\$1,200.00	\$20.00	\$2,000.00
		7 gal	25	\$37.50	\$	937.50	\$70.00	\$1,750.00	\$145.00	\$3,625.00	\$37.50	\$937.50	\$32.00	\$800.00	\$56.25	\$1,406.25
Jatropha integerrima	Jatropha	3 gal	100	\$13.00	\$	1,300.00	\$18.00	\$1,800.00	\$25.00	\$2,500.00	\$12.00	\$1,200.00	\$9.00	\$900.00	\$17.50	\$1,750.00
		7 gal	25	\$32.50	\$	812.50	\$70.00	\$1,750.00	\$125.00	\$3,125.00	\$37.50	\$937.50	\$35.00	\$875.00	\$45.00	\$1,125.00
Alternanthera	Joseph's coat	1 gal	2000	\$8.00	· ·	16,000.00	\$12.00	\$24,000.00	\$7.00	\$14,000.00	\$5.25	\$10,500.00	\$4.00	\$8,000.00	\$6.25	\$12,500.00
Juniperus chinensis 'Parsonii'	Chinese juniper	3 gal	250	\$13.00	\$	3,250.00	\$18.00	\$4,500.00	\$25.00	\$6,250.00	\$11.25	\$2,812.50	\$9.50	\$2,375.00	\$11.25	\$2,812.50
Ardisia Escallonioides	Marlberry	3 gal	50	\$18.50	\$	925.00	\$25.00	\$1,250.00	\$25.00	\$1,250.00	\$15.00	\$750.00	\$14.00	\$700.00	\$20.00	\$1,000.00
		7 gal	20 10	\$47.50	\$ \$	950.00 1,250.00	\$70.00 \$150.00	\$1,400.00	\$144.00 \$244.00	\$2,880.00 \$2,440.00	\$45.00	\$900.00	\$65.00 \$100.00	\$1,300.00	\$68.75 \$187.50	\$1,375.00
Incretions have been	Now guines impations	15 gal 4 1/2"	500	\$125.00 \$17.00	\$ \$	8,500.00	\$150.00	\$1,500.00 \$2,500.00	\$244.00	\$2,440.00	\$115.00 \$3.25	\$1,150.00 \$1,625.00	\$100.00	\$1,000.00 \$1,250.00	\$187.50	\$1,875.00 \$1,250.00
Impatiens hawkeri	New guinea impatiens	4 1/2 1 gal	200	\$17.00	ې \$	4,600.00	\$10.00	\$2,000.00	\$5.00	\$2,000.00	\$5.85	\$1,825.00	\$2.50	\$1,230.00	\$6.25	\$1,250.00
Muhlenbergia capillaris	Pink muhly grass	1 gal	200	\$7.50	ş	1,500.00	\$10.00	\$2,000.00	\$9.00	\$1,800.00	\$5.25	\$1,050.00	\$5.00	\$1,000.00	\$4.75	\$950.00
Wullenbergia capitaris	Fink muniy grass	3 gal	75	\$12.00	ş	900.00	\$15.00	\$1,125.00	\$12.00	\$900.00	\$10.50	\$787.50	\$3.00	\$637.50	\$10.00	\$750.00
Podocarpus macrophyllus	Podocarpus	3 gal	100	\$12.50	Ś	1,250.00	\$18.00	\$1,800.00	\$18.00	\$1,800.00	\$10.50	\$1,050.00	\$9.50	\$950.00	\$25.50	\$2,550.00
	i ouocurpus	7 gal	100	\$27.50	Ś	2,750.00	\$50.00	\$5,000.00	\$144.00	\$14,400.00	\$35.00	\$3,500.00	\$32.00	\$3,200.00	\$37.50	\$3,750.00
		15 gal	25	\$60.50	Ś	1,512.50	\$110.00	\$2,750.00	\$244.00	\$6,100.00	\$75.00	\$1,875.00	\$175.00	\$4,375.00	\$87.50	\$2,187.50
Pennisetum japonicum	Red fountain grass	1 gal	100	\$7.50	\$	750.00	\$8.00	\$800.00	\$9.00	\$900.00	\$5.25	\$525.00	\$5.00	\$500.00	\$5.00	\$500.00
		3 gal	25	\$12.00	\$	300.00	\$15.00	\$375.00	\$15.00	\$375.00	\$11.25	\$281.25	\$8.50	\$212.50	\$11.25	\$281.25
Chrysobalanus icaco	Red Tip Cocoplum	3 gal	2000	\$12.00	\$	24,000.00	\$15.00	\$30,000.00	\$11.00	\$22,000.00	\$10.50	\$21,000.00	\$8.50	\$17,000.00	\$8.75	\$17,500.00
Schefflera arboricola 'Trinette'	Schefflera arboricola 'Trinette'	3 gal	1000	\$12.00	\$	12,000.00	\$15.00	\$15,000.00	\$11.00	\$11,000.00	\$10.50	\$10,500.00	\$8.00	\$8,000.00	\$11.25	\$11,250.00
Conocarpus erectus sericeus	Silver Buttonwood	3 gal	7500	\$12.00	\$	90,000.00	\$15.00	\$112,500.00	\$11.00	\$82,500.00	\$10.50	\$78,750.00	\$8.75	\$65,625.00	\$10.00	\$75,000.00
		7 gal	150	\$24.00	\$	3,600.00	\$50.00	\$7,500.00	\$95.00	\$14,250.00	\$35.00	\$5,250.00	\$29.00	\$4,350.00	\$35.00	\$5,250.00
Myrcianthes fragrans	Simpson Stopper	3 gal	500	\$12.50	\$	6,250.00	\$18.00	\$9,000.00	\$18.00	\$9,000.00	\$12.00	\$6,000.00	\$9.00	\$4,500.00	\$10.00	\$5,000.00
		7 gal	100	\$24.00	\$	2,400.00	\$70.00	\$7,000.00	\$95.00	\$9,500.00	\$37.50	\$3,750.00	\$29.00	\$2,900.00	\$30.00	\$3,000.00
Clusia guttifera	Small leaf Clusia	3 gal	1000	\$13.00	\$	13,000.00	\$15.00	\$15,000.00	\$12.00	\$12,000.00	\$12.00	\$12,000.00	\$8.50	\$8,500.00	\$10.00	\$10,000.00
Galphimia glauca	Thryallis	3 gal	100	\$12.00	\$	1,200.00	\$18.00	\$1,800.00	\$15.00	\$1,500.00	\$10.50	\$1,050.00	\$8.50	\$850.00	\$10.00	\$1,000.00
Cordyline fruticosa 'Red Sister'	Ti Plant	3 gal	100	\$12.50	\$	1,250.00	\$35.00	\$3,500.00	\$20.00	\$2,000.00	\$15.00	\$1,500.00	\$9.50	\$950.00	\$16.25	\$1,625.00
Myrica cerifera	Wax Myrtle	3 gal	500	\$12.50	\$	6,250.00	\$18.00	\$9,000.00	\$18.00	\$9,000.00	\$12.00	\$6,000.00	\$8.00	\$4,000.00	\$12.00	\$6,000.00
		7 gal	50	\$25.50	\$	1,275.00	\$30.00	\$1,500.00	\$45.00	\$2,250.00	\$37.50	\$1,875.00	\$25.00	\$1,250.00	\$35.00	\$1,750.00
Psychotria nervosa	Wild Coffee	3 gal	150	\$12.50	\$	1,875.00	\$25.00	\$3,750.00	\$18.00	\$2,700.00	\$12.00	\$1,800.00	\$9.50	\$1,425.00	\$12.50	\$1,875.00

Inaction   Bad Opena   Isga   I   Sign	Vendor					Rubio M&M Corp			VisualScape Inc.		Growers, Inc	Dy	naserv	Garden	ing Angel	Plant Professionals		
Partner   <					Class D							-				Class D		
GROUP. ALMOS OF UPULY   V   V   V   V   V   V   V   V     Yess one   side Fg   V																		
Mates age   Multimy Isble Fig   Jail   101   21.00   12.00 <th12.00< th="">   12.00   12.00</th12.00<>					Visa			M/C	Visa		Visa, M/C		Visa, M/C		Visa			
Data Pice Arrival   Table Pice   State				400	494.59	<i>^</i>		405.00	40.500.00	405.00	40 500 00	494.00	40,400,00	445.00	A4 500 00	405.00	40.500.00	
BROM   Table 1   Status   Status </td <td>-</td> <td>,</td> <td></td> <td></td> <td></td> <td></td> <td>,</td> <td></td> <td>. ,</td> <td></td> <td>1 /2 2 2 2 2</td> <td></td> <td>. ,</td> <td></td> <td>. ,</td> <td></td> <td>. ,</td>	-	,					,		. ,		1 /2 2 2 2 2		. ,		. ,		. ,	
Concernance   Normal   No			5 gai	50	\$40.00		,	\$25.00		323.00	. ,	\$12.00		\$15.00		Ş50.00		
Sciently findImage in the set of the set	GROUP A TOTAL					<i>ې</i> د	+05,585.00		\$556,000.00		\$511,520.00		\$550,520.25		\$290,890.00		ŞSS1,412.50	
Inaction   Bad Opena   Isga   I   Sign	GROUP B. TREES FOR SUPPLY, D	DELIVERY AND INSTALLATION		-							-		-		-		_	
1   2   1   5	Scientific Name	Common Name																
Kongolandran Ierreum   Black knowad   Taglel   5   9800   5   3000   50000   55000   52500   55000 <td>Taxodium distichum</td> <td>Bald Cypress</td> <td>15 gal</td> <td>10</td> <td>\$121.50</td> <td>\$</td> <td>1,215.00</td> <td>\$125.00</td> <td>\$1,250.00</td> <td>\$395.00</td> <td>\$3,950.00</td> <td>\$140.00</td> <td>\$1,400.00</td> <td>\$90.00</td> <td>\$900.00</td> <td>\$137.50</td> <td>\$1,375.00</td>	Taxodium distichum	Bald Cypress	15 gal	10	\$121.50	\$	1,215.00	\$125.00	\$1,250.00	\$395.00	\$3,950.00	\$140.00	\$1,400.00	\$90.00	\$900.00	\$137.50	\$1,375.00	
15 jul   15   15 jul   15   15 jul   15   16 jul			25 gal	10	\$191.50	\$	1,915.00	\$225.00	\$2,250.00	\$495.00	\$4,950.00	\$205.00	\$2,050.00	\$195.00	\$1,950.00	\$250.00	\$2,500.00	
Signal dicols   Signal display   Signal d	Krugiodendron ferreum	Black ironwood	7 gal	5	\$60.00	\$	300.00	\$100.00	\$500.00	\$595.00	\$2,975.00	\$65.00	\$325.00	\$70.00	\$350.00	\$87.50	\$437.50	
bioly   7 no   5   550.00   5 200.00   500.00  500.00  500.00			15 gal	5	\$138.50	\$	692.50	\$200.00	\$1,000.00	\$795.00	\$3,975.00	\$140.00	\$700.00	\$150.00	\$750.00	\$162.50	\$812.50	
Integra   5   9150   5   91700   53000<			25 gal	10	•	\$	,				. ,		. ,					
bases   bases <th< td=""><td>Guapira discolor</td><td>Blolly</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></th<>	Guapira discolor	Blolly																
bulkes   junk   j			-		\$91.50		457.50											
space below   ison	D. La cala cala ca	Delessia			650.00		-											
Lagersteemia indica   Project   Sign   Sig	Buinesia arborea	Bulnesia													-			
Indegrove   20   91.33   5   95.00   55.00   51.000   558.00   57.000   558.00   57.000   558.00   57.00  <			-			Ŧ												
tages to emil indica   Crape Myrtle   Figl   S   Siston   S   Sinton   Sinton <th< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></th<>																		
15 gal   5   998.00   5   990.00   5395.00   5395.00   5395.00   577.00   5312.00	Lagersrtoemia indica	Crane Myrtle	-			•									-			
12 sail   40   \$20s.0   \$200.0   \$210.00   \$215.00   \$200.00   \$212.00   \$200.00   \$212.00   \$200.00   \$212.00   \$200.00   \$212.00   \$200.00   \$212.00   \$200.00   \$212.00   \$200.00   \$212.00   \$200.00   \$212.00   \$200.00   \$212.00   \$200.00   \$212.00   \$200.00   \$212.00   \$200.00   \$212.00   \$200.00   \$212.00   \$200.00   \$212.00   \$200.00   \$212.00   \$200.00   \$212.00   \$200.00   \$212.00   \$200.00   \$212.00   \$200.00   \$212.00   \$200.	Eugersi toernia maleu	crupe myrtic		-														
Hiddwood   Fiedgrown   10   545.00   540.00   5400.00   5404.40   5849.40   588.00   590.00   590.00   597			-															
Citharexylum fruticosum   Fiddlewood   7 gal   5   56.00   5   25.00   51.475.00   548.00   540.00   590.00   582.00  <					•		,				. ,							
Image: series in the	Citharexylum fruticosum	Fiddlewood																
Burser simaruba   Gumbo Limbo   15 gal   5   51200   5 60000   52000   52000   5				5	\$120.00	\$	600.00	\$200.00	\$1,000.00	\$495.00	\$2,475.00	\$140.00	\$700.00	\$95.00	\$475.00	\$137.50	\$687.50	
2   2   2   2   2   2   2   0   6   5   6   5			25 gal	25	\$260.00	\$	6,500.00	\$350.00	\$8,750.00	\$595.00	\$14,875.00	\$265.00	\$6,625.00	\$260.00	\$6,500.00	\$395.00	\$9,875.00	
Caparis cynophallophora   Indican Caper   Field grown   5   400.00   532.00   559.44   5292.20   538.50   5312.50   520.00   5317.50   5317.50   5310.00   5341.75   5310.00   5341.75   5310.00   5341.00   5317.50   5310.00   5317.50   5310.00   5317.50   5310.00   5317.50   5310.00   5317.50   5310.00   5317.50   5310.00   5317.50   5310.00   5317.50   5310.00   5317.50   5310.00   5317.50   5310.00   5317.50   5310.00   5310.00   5317.50   5310.00   5310.00   5317.50   5310.00   5310.00   5317.50   5310.00   5310.00   5312.50   5312.50   5310.00   5310.00   5312.50<	Bursera simaruba	Gumbo Limbo	15 gal	5	\$120.00	\$	600.00	\$100.00	\$500.00	\$295.00	\$1,475.00	\$140.00	\$700.00	\$95.00	\$475.00	\$112.50	\$562.50	
Capparis cynophallophora   Jamalcan Caper   7 gal   5   9 650.0   5   9 70.00   9 975.00   9 975.00   9 400.00   9 450.00   5 220.00   5 520.00			25 gal	25	\$200.00	\$	5,000.00								\$5,625.00			
15gal   5   565.0   5   442.0   543.0.0   544.0.0   570.0.0   540.0.0																		
1   25   306   5   7,662,50   9400,00   \$495,00   \$42,370,00   \$56,625,00   \$529,00   \$512,50   \$729,00   \$512,50   \$729,00   \$529,00   \$512,50   \$729,00   \$529,00   \$512,50   \$729,00   \$529,00   \$512,50   \$529,00   \$519,000   \$529,00   \$519,000   \$59,00   \$519,000   \$59,000   \$519,000   \$59,00   \$519,000   \$519,000   \$519,000   \$519,000   \$519,000   \$519,000   \$519,000   \$519,000   \$519,000   \$519,000   \$519,000 <td< td=""><td>Capparis cynophallophora</td><td>Jamaican Caper</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>-</td><td></td><td></td><td></td><td></td><td></td><td></td></td<>	Capparis cynophallophora	Jamaican Caper									-							
Image: bluebery   field grown   5   \$40.00   \$   20000   \$45.00   \$122.40   \$124.44   \$622.20   \$18.00   \$192.00   \$20.00																		
Elaeocarpus decipiens   Japanese blueberry   7 gal   5   6   57.00   \$335.00   \$195.00   \$975.00   \$300.00   \$500.00   \$250.00   \$250.00   \$250.00   \$250.00   \$250.00   \$250.00   \$250.00   \$250.00   \$250.00   \$250.00   \$250.00   \$250.00   \$500.00   \$250.00   \$500.00   \$500.00   \$250.00   \$500.00			-															
15 gal   5   990.00   5   450.00   9790.00   \$995.00   \$970.00   \$10.00   \$970.00   \$1397.00   \$100.00   \$970.00   \$1397.00   \$100.00   \$970.00   \$1390.00   \$100.00   \$970.00   \$1390.00   \$100.00   \$100.00 <td>Elapocarpus desinions</td> <td>lananaca bluabarni</td> <td></td> <td>-</td> <td>\$40.00</td> <td></td>	Elapocarpus desinions	lananaca bluabarni		-	\$40.00													
Quercus Virginiana   Live Oak   25 gal   50   \$28,00.0   \$1,4000.0   \$350.00   \$17,50.00   \$94,4   \$1,988.0   \$38,50   \$27,50.0   \$24,75.00   \$24,75.00   \$24,75.00   \$24,75.00   \$24,75.00   \$24,75.00   \$24,75.00   \$24,75.00   \$24,75.00   \$24,75.00   \$24,75.00   \$24,75.00   \$24,75.00   \$24,75.00   \$24,75.00   \$24,75.00   \$24,75.	Elaeocal pus decipiens	Japanese blueberry			\$00.00													
Quercus Virginiana   Live Oak   field grown   20   \$50.00   \$5   1,000.00   \$55.00   \$1,100.00   \$99.44   \$1,988.80   \$38.50   \$770.00   \$20.00   \$400.00   \$50.00   \$500.00   \$500.00   \$500.00   \$500.00   \$500.00   \$500.00   \$500.00   \$500.00   \$500.00   \$500.00   \$500.00   \$500.00   \$500.00   \$510.70.00   \$645.00   \$510.00   \$570.00   \$510.70.00   \$520.00   \$500.00   \$510.70.00   \$542.00.00   \$510.70.00   \$510.00   \$570.00   \$510.70.00 <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>																		
Quercus Virginiana   Live Oak   15 gal   5   \$13.00   \$   6.00   \$125.00   \$525.00   \$183.00   \$10.00   \$575.00   \$10.00   \$575.00   \$10.00   \$575.00   \$10.00   \$575.00   \$10.00   \$575.00   \$10.00   \$575.00   \$10.00   \$575.00   \$10.00   \$575.00   \$10.00   \$575.00   \$10.00   \$575.00   \$50.00   \$10.00   \$575.00   \$10.00   \$575.00   \$50.00   \$517.00   \$50.00   \$575.00   \$50.00   \$575.00   \$50.00   \$575.00   \$50.00   \$575.00   \$50.00   \$575.00   \$50.00   \$575.00   \$50.00   \$575.00   \$50.00   \$50.00   \$575.00   \$50.00   \$50.00   \$575.00   \$50.							,				. ,		. ,				. ,	
25 gal   25   \$250.00   \$6,250.00   \$300.00   \$7,500.00   \$17,375.00   \$425.00   \$10,625.00   \$2,750.00   \$6,875.00   \$1,210.00   \$6,205.00     100 gal   5   \$2,200.00   \$1,000.00   \$1,200.00   \$5,000.00   \$1,000.00   \$5,	Quercus Virginiana	Live Oak					,								-			
Swietenia mahagoni   Mahogany   100 gal   5   \$2,800.00   \$1,190.30   \$1,200.00   \$6,000.00   \$1,395.00   \$6,975.00   \$3,750.00   \$3,750.00   \$1,250.00   \$6,025.00     Swietenia mahagoni   Mahogany   10   \$190.43   \$1,904.30   \$300.00   \$48.44   \$484.40   \$43.00   \$43.00   \$300.00   \$300.00   \$505.00   \$14.000.00   \$507.50   \$500.00   \$500.00   \$54.475.00   \$14.000.00   \$507.500   \$14.000.00   \$500.00   \$507.500   \$14.000.00   \$500.00   \$500.00   \$500.00   \$500.00   \$500.00   \$500.00   \$500.00   \$510.000 <t< td=""><td>5</td><td></td><td></td><td></td><td></td><td>· ·</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>	5					· ·												
Swietenia mahagoni   Mahogany   15 gal   5   \$110.00   \$50.00   \$150.00   \$750.00   \$495.00   \$2475.00   \$140.00   \$700.00   \$80.00   \$400.00   \$2125.00   \$625.00     25 gal   20   \$256.50   \$5,130.00   \$370.00   \$595.00   \$1,090.00   \$320.00   \$6,400.00   \$225.00   \$4,500.00   \$125.00   \$5,000.00   \$5,000.00   \$225.00   \$5,000.00   \$200.00   \$5,000.00   \$225.00   \$5,000.00   \$225.00   \$5,000.00   \$225.00   \$5,000.00   \$225.00   \$5,000.00   \$225.00   \$5,000.00   \$225.00   \$5,000.00   \$225.00   \$5,000.00   \$225.00   \$6,250.00   \$200.00			100 gal	5	\$2,800.00	\$	14,000.00	\$1,200.00	\$6,000.00	\$1,500.00	\$7,500.00	\$1,395.00	\$6,975.00	\$750.00	\$3,750.00	\$1,250.00	\$6,250.00	
25 gal   20   \$256.50   \$5,130.00   \$350.00   \$595.00   \$11,900.00   \$320.00   \$6,400.00   \$225.00   \$4,500.00   \$5,000.00     100 gal   5   \$2,900.00   \$   14,500.00   \$5,000.00   \$1,500.00   \$1,500.00   \$1,500.00   \$1,500.00   \$1,500.00   \$1,500.00   \$1,375.00   \$5,000.00   \$1,375.00   \$5,000.00   \$1,500.00   \$1,975.00   \$1,075.00   \$1,500.00   \$1,375.00   \$5,000.00   \$1,500.00   \$1,975.00   \$1,000.00   \$750.00   \$1,975.00   \$250.00   \$250.00   \$500.00   \$500.00   \$1,975.00   \$1,000.00   \$750.00   \$385.00   \$200.00   \$500.00   \$500.00   \$21,975.00   \$1,000.00   \$750.00   \$385.00   \$200.00   \$500.00   \$225.00   \$5,62.50   \$5,62.50   \$5,62.50   \$5,62.50   \$225.00   \$5,62.50   \$5,62.50   \$5,62.50   \$5,62.50   \$5,62.50   \$5,62.50   \$5,62.50   \$5,62.50   \$5,62.50   \$5,62.50   \$5,62.50   \$5,62.50   \$5,62.50   \$5,62.50   \$5,62.50   \$5,62.50 <td></td> <td></td> <td>field grown</td> <td>10</td> <td>\$190.43</td> <td>\$</td> <td>1,904.30</td> <td>\$30.00</td> <td>\$300.00</td> <td>\$48.44</td> <td>\$484.40</td> <td>\$43.00</td> <td>\$430.00</td> <td>\$30.00</td> <td>\$300.00</td> <td>\$97.50</td> <td>\$975.00</td>			field grown	10	\$190.43	\$	1,904.30	\$30.00	\$300.00	\$48.44	\$484.40	\$43.00	\$430.00	\$30.00	\$300.00	\$97.50	\$975.00	
100 gal   5   \$2,90.00   \$1,4,50.00   \$7,000.00   \$1,075.00   \$3,075.00   \$300.00   \$1,375.00   \$6,875.00     Cordia sebastiana   Orange Geiger Tree   100 gal   5   \$2,00.00   \$300.00   \$1,075.00   \$1,075.00   \$1,075.00   \$300.00   \$1,375.00   \$50.00   \$50.00   \$350.00   \$350.00   \$49.44   \$4494.40   \$38.50   \$385.00   \$200.00   \$50.00   \$50.00   \$50.00   \$350.00   \$49.44   \$449.40   \$38.50   \$385.00   \$20.00   \$50.00   \$50.00   \$50.00   \$50.00   \$350.00   \$350.00   \$1,075.00   \$140.00   \$700.00   \$20.00   \$20.00   \$50.00   \$50.20	Swietenia mahagoni	Mahogany	15 gal	5	\$110.00	\$	550.00	\$150.00	\$750.00	\$495.00	\$2,475.00	\$140.00	\$700.00	\$80.00	\$400.00	\$125.00	\$625.00	
field grown   10   \$50.00   \$35.00   \$49.44   \$494.40   \$38.50   \$20.00   \$20.00   \$50.00   \$50.00     Cordia sebastiana   Orange Geiger Tree   15 gal   5   \$80.00   \$400.00   \$150.00   \$750.00   \$385.00   \$20.00   \$20.00   \$125.00   \$625.00     Cordia sebastiana   Orange Geiger Tree   15 gal   5   \$80.00   \$150.00   \$750.00   \$395.00   \$1,975.00   \$140.00   \$770.00   \$275.00   \$225.00   \$625.00     Coccoloba diversifolia   Pigeon Plum   10   \$50.00   \$250.00   \$350.00   \$297.00   \$80.000   \$200.00   \$225.00   \$625.00     Coccoloba diversifolia   Pigeon Plum   10   \$50.00   \$250.00   \$395.00   \$195.00   \$195.00   \$400			25 gal	20	\$256.50	\$	5,130.00				. ,							
Cordia sebastiana   Orange Geiger Tree   15 gal   5   \$80.00   \$150.00   \$750.00   \$1975.00   \$140.00   \$770.00   \$775.00   \$375.00   \$125.00   \$625.00     25 gal   25   \$206.50   \$5,162.50   \$350.00   \$875.00   \$495.00   \$12,375.00   \$320.00   \$8,00.00   \$225.00   \$5,625.00   \$262.50   \$65,562.50   \$65,502.50   \$200.00   \$220.00   \$200.00   \$225.00   \$325.00   \$395.00   \$197.500   \$340.00   \$400.00   \$400.00   \$400.00   \$400.00   \$400.00   \$400.00   \$400.00   \$400.00   \$400.00   \$400.00   \$400.00   \$400.00   \$400.00   \$400.00   \$400.00   \$400.00   \$400.0					. ,		,											
25 gal   25   \$206.50   \$ 5,162.50   \$330.00   \$8,750.00   \$495.00   \$12,375.00   \$320.00   \$8,000.00   \$225.00   \$5,625.00   \$262.50   \$6,562.50     field grown   10   \$50.00   \$350.00   \$350.00   \$59.44   \$594.40   \$385.00   \$20.00   \$20.00   \$32.50   \$32.50   \$320.00   \$400.00   \$400.00   \$20.00   \$32.50   \$32.50   \$32.50   \$32.00   \$385.00   \$400.00   \$40.00   \$20.00   \$32.50   \$32.50   \$32.50   \$300.00   \$400.00						\$									•			
field grown   10   \$50.00   \$350.00   \$350.00   \$59.44   \$594.40   \$38.50   \$320.00   \$200.00   \$32.50   \$325.00     Coccoloba diversifolia   Pigeon Plum   7 gal   5   \$50.50   \$252.50   \$65.00   \$325.00   \$975.00   \$400.00   \$400.00   \$400.00   \$400.00   \$400.00   \$625.00   \$312.50     15 gal   5   \$91.50   \$457.50   \$150.00   \$750.00   \$140.00   \$700.00   \$75.00   \$125.00   \$625.00   \$312.50     25 gal   25   \$256.50   \$6,412.50   \$350.00   \$495.00   \$12,375.00   \$325.00   \$200.00   \$225.00   \$625.00     25 gal   25   \$256.50   \$6,412.50   \$350.00   \$495.00   \$12,375.00   \$326.00   \$200.00   \$225.00   \$312.50   \$365.00   \$325.00   \$305.00   \$495.00   \$12,375.00   \$310.00   \$20.00   \$50.00   \$305.00   \$495.00   \$12,375.00   \$314.00   \$700.00   \$20.00   \$50.00   \$305.00   \$4	Cordia sebastiana	Orange Geiger Tree				Ş												
Coccoloba diversifolia   Pigeon Plum   7 gal   5   \$ 50.50   \$ 252.50   \$ \$65.00   \$ \$325.00   \$ \$975.00   \$ \$400.00   \$ \$400.00   \$ \$200.00   \$ \$625.00   \$ \$312.50     15 gal   5   \$ 91.50   \$ 457.50   \$150.00   \$750.00   \$395.00   \$140.00   \$700.00   \$75.00   \$375.00   \$125.00   \$625.00 </td <td></td>																		
15 gal 5 \$91.50 \$457.50 \$150.00 \$395.00 \$1975.00 \$700.00 \$75.00 \$375.00 \$125.00 \$625.00   25 gal 25 \$256.50 \$6,412.50 \$350.00 \$495.00 \$12,375.00 \$320.00 \$800.00 \$225.00 \$5,625.00 \$12,50 \$500.00 \$405.00 \$494.40 \$385.00 \$385.00 \$20.00 \$500.00 \$500.00 \$400.00 \$494.40 \$385.00 \$385.00 \$20.00 \$50.00 \$500.00 \$400.00 \$494.40 \$385.00 \$385.00 \$20.00 \$50.00 \$600.00 \$400.00 \$494.40 \$385.00 \$385.00 \$20.00 \$50.00 \$600.00 \$400.00 \$494.40 \$385.00 \$385.00 \$20.00 \$50.00 \$600.00 \$400.00	Coccoloba divorcifalia	Pigoon Plum				-					-							
25 gal 25 \$256.5 \$6,412.5 \$350.00 \$495.00 \$12,375.00 \$320.00 \$8,00.00 \$225.00 \$5,625.00 \$312.50 \$7,812.50   field grown 10 \$50.00 \$400.00 \$400.00 \$494.40 \$385.00 \$385.00 \$20.00 \$20.00 \$50.00 \$500.00 \$400.00 \$494.40 \$385.00 \$385.00 \$20.00 \$50.00 \$500.00 \$400.00 \$494.40 \$385.00 \$385.00 \$20.00 \$50.00 \$50.00 \$400.00 \$494.40 \$385.00 \$385.00 \$20.00 \$50.00 \$500.00 \$500.00 \$500.00 \$400.00 \$494.40 \$385.00 \$385.00 \$20.00 \$50.00 \$500.00 \$500.00 \$400.00 \$494.40 \$385.00 \$385.00 \$20.00 \$450.00 \$500.00 \$400.00 \$300.00 \$400.00 \$300.00 \$400.00<		Figeon Fluin																
field grown 10 \$50.00 \$40.00 \$49.44 \$94.40 \$38.50 \$385.00 \$20.00 \$50.00 \$50.00   Chrysophyllum oliviforme Satin Leaf Tree 15 gal 5 \$90.00 \$40.00 \$40.00 \$49.44 \$494.40 \$38.50 \$385.00 \$20.00 \$50.00 \$50.00 \$50.00 \$687.50   15 gal 5 \$90.00 \$575.00 \$305.00 \$495.00 \$12,375.00 \$320.00 \$20.00 \$67,812.50 \$687.50   25 gal 25 \$230.00 \$575.00 \$350.00 \$49.44 \$494.40 \$38.50 \$20.00 \$62.50.00 \$317.50 \$687.50.00 \$687.50.00 \$687.50.00 \$687.50.00 \$687.50.00 \$320.00 \$250.00 \$62.50.00 \$312.50 \$7,812.50 \$300.00 \$20.00 \$450.00 \$450.00 \$495.44 \$494.40 \$38.50 \$385.00 \$20.00 \$450.00 \$450.00 \$450.00 \$450.00 \$450.00 \$450.00 \$450.00 \$450.00 \$495.44 \$494.40 \$38.50 \$385.00 \$20.00 \$45.00 \$450.00 \$450.00 \$450.00																		
Chrysophyllum oliviforme Satin Leaf Tree 15 gal 5 \$90.00 \$450.00 \$125.00 \$395.00 \$1975.00 \$140.00 \$700.00 \$90.00 \$450.00 \$137.50 \$687.50   25 gal 25 \$230.00 \$5,750.00 \$350.00 \$495.00 \$12,375.00 \$320.00 \$800.00 \$250.00 \$625.00 \$317.50 \$315.00 \$317.50 \$317.50 \$315.00 \$317.50 \$317.50 \$315.00 \$317.50 \$315.00 \$315.00 \$315.00 \$315.00 \$3											. ,		. ,					
25 gal 25 \$230.00 \$5,750.00 \$350.00 \$495.00 \$12,375.00 \$320.00 \$8,000.00 \$250.00 \$6,250.00 \$7,812.50   field grown 10 \$46.60 \$350.00 \$494.40 \$438.50 \$385.00 \$20.00 \$450.00	Chrysophyllum oliviforme	Satin Leaf Tree									-				-			
field grown   10   \$46.60   \$35.00   \$49.44   \$494.40   \$38.50   \$20.00   \$45.00   \$45.00     Conocarpus erectus 'Sericeus'   Silver Butonwood   7 gal   5   \$32.50   \$162.50   \$55.00   \$275.00   \$195.00   \$975.00   \$400.00   \$30.00   \$150.00   \$150.00   \$30.00	,, ,	· · · · -	-			-												
Concerpus erectus 'Sericeus'   Silver Butonwood   7 gal   5   \$32.50   \$ 162.50   \$255.00   \$195.00   \$975.00   \$400.00   \$30.00   \$150.00   \$30.00 <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>																		
15 gal 5 \$61.50 \$ 307.50 \$115.00 \$575.00 \$395.00 \$1,975.00 \$140.00 \$700.00 \$70.00 \$350.00 \$75.00 \$375.00	Conocarpus erectus 'Sericeus'	Silver Butonwood									-				-			
															-			
			25 gal	25	\$136.50	\$	3,412.50	\$250.00	\$6,250.00	\$495.00		\$320.00	\$8,000.00	\$250.00	\$6,250.00	\$312.50	\$7,812.50	

	Vendor Location				M&M nestead			icape Inc. mi, FL		Growers, Inc uderdale, FL		naserv wood, FL		ing Angel and, FL		ofessionals stead, FL	
		Class D			ass D		lass C	-	ass D		ss C	Class D					
Local Preference P-Card					Visa			M/C		Visa		Visa, M/C		Visa, M/C		Visa	
GROUP A. PLANTS FOR SUPPLY,						Vide		visa, w/c		VISa, IVI/C		visa					
		field grown	10	\$50.00	Ś	500.00	\$35.00	\$350.00	\$49.44	\$494.40	\$38.50	\$385.00	\$20.00	\$200.00	\$50.00	\$500.00	
Myricanthea fragrans	Simpson Stopper	7 gal	5	\$33.50	\$	167.50	\$75.00	\$375.00	\$195.00	\$975.00	\$80.00	\$400.00	\$30.00	\$150.00	\$37.50	\$187.50	
,		15 gal	5	\$66.60	\$	333.00	\$150.00	\$750.00	\$395.00	\$1,975.00	\$140.00	\$700.00	\$70.00	\$350.00	\$75.00	\$375.00	
		25 gal	35	\$136.50	\$	4,777.50	\$325.00	\$11,375.00	\$495.00	\$17,325.00	\$265.00	\$9,275.00	\$225.00	\$7,875.00	\$237.50	\$8,312.50	
Pinus elliottii densa	Florida Slash Pine	15 gal	5	\$91.50	\$	457.50	\$150.00	\$750.00	\$395.00	\$1,975.00	\$140.00	\$700.00	\$70.00	\$350.00	\$112.50	\$562.50	
		25 gal	25	\$181.50	\$	4,537.50	\$300.00	\$7,500.00	\$495.00	\$12,375.00	\$425.00	\$10,625.00	\$225.00	\$5,625.00	\$250.00	\$6,250.00	
Clusia Rosea	Pitch Apple	25 gal	10	\$206.50	\$	2,065.00	\$250.00	\$2,500.00	\$495.00	\$4,950.00	\$425.00	\$4,250.00	\$250.00	\$2,500.00	\$375.00	\$3,750.00	
Ilex cassine	Dahoon Holly	25 gal	10	\$220.00	\$	2,200.00	\$270.00	\$2,700.00	\$495.00	\$4,950.00	\$320.00	\$3,200.00	\$225.00	\$2,250.00	\$262.50	\$2,625.00	
Acer rubrum	Red Maple	25 gal	10	\$241.50	\$	2,415.00	\$350.00	\$3,500.00	\$495.00	\$4,950.00	\$320.00	\$3,200.00	\$250.00	\$2,500.00	\$312.50	\$3,125.00	
Conocarpus erectus	Green Buttonwood	25 gal	25	\$181.50	\$	4,537.50	\$225.00	\$5,625.00	\$495.00	\$12,375.00	\$320.00	\$8,000.00	\$225.00	\$5,625.00	\$312.50	\$7,812.50	
Eugenia axillaris	White Stopper	25 gal	10	\$151.50	\$	1,515.00	\$300.00	\$3,000.00	\$495.00	\$4,950.00	\$320.00	\$3,200.00	\$250.00	\$2,500.00	\$375.00	\$3,750.00	
Magnolia grandifolia 'Little Gem'	Magnolia 'Little Gem'	25 gal	10	\$240.00	\$	2,400.00	\$350.00	\$3,500.00	\$695.00	\$6,950.00	\$320.00	\$3,200.00	\$250.00	\$2,500.00	\$437.50	\$4,375.00	
Simaouba glauca	Paradise Tree	25 gal	10	\$206.50	\$	2,065.00	\$320.00	\$3,200.00	\$495.00	\$4,950.00	\$320.00	\$3,200.00	\$225.00	\$2,250.00	\$312.50	\$3,125.00	
Eugenia foetida	Spanish Stopper	25 gal	20	\$131.50	\$	2,630.00	\$300.00	\$6,000.00	\$595.00	\$11,900.00	\$375.00	\$7,500.00	\$225.00	\$4,500.00	\$212.50	\$4,250.00	
Cordia boissieri	White Geiger Tree	25 gal	10	\$140.00	\$	1,400.00	\$400.00	\$4,000.00	\$495.00	\$4,950.00	\$375.00	\$3,750.00	\$225.00	\$2,250.00	\$250.00	\$2,500.00	
Persea americana	Avocado	-						\$0.00		\$0.00		\$0.00		\$0.00		\$0.00	
Averrhoa carambola	Carambola	-						\$0.00		\$0.00		\$0.00		\$0.00		\$0.00	
Synsepalum Dulcificium	Miracle Fruit							\$0.00		\$0.00		\$0.00		\$0.00		\$0.00	
Plinia cauliflora	Jaboticaba	15 ccl	10	Ć1F1 F0	Ś	1,515.00	\$150.00	\$0.00	\$595.00	\$0.00		\$0.00 \$0.00	\$150.00	\$0.00	\$187.50	\$0.00	
Canella alba	Wild cinnamon	15 gal	10 10	\$151.50 \$331.50	ş Ş	3,315.00	\$150.00	\$1,500.00 \$3,500.00	\$695.00	\$5,950.00 \$6,950.00	\$425.00	\$0.00	\$150.00	\$1,500.00 \$3,250.00	\$187.50	\$1,875.00 \$5,000.00	
Luciloma laticiliqua	Wild tamarind	25 gal 15 gal	10	\$130.00	ې \$	1,300.00	\$120.00	\$1,200.00	\$395.00	\$8,950.00	\$425.00	\$0.00	\$100.00	\$1,000.00	\$162.50	\$1,625.00	
Lysiloma latisiliqua	who tamaring	25 gal	10	\$250.00	ş Ś	2,500.00	\$300.00	\$3,000.00	\$495.00	\$4,950.00	\$425.00	\$4,250.00	\$100.00	\$2,500.00	\$102.50	\$2,125.00	
		field grown	10	\$48.50	ş	485.00	\$35.00	\$350.00	\$49.44	\$494.40	\$38.50	\$385.00	\$20.00	\$2,300.00	\$37.50	\$375.00	
GROUP B TOTAL					Ŧ	74,969.90	<i>\$55.00</i>	\$217,875.00	Ş45.44	\$413,517.20	<i>\$</i> 50.50	\$213,650.00	Ş20.00	\$159,700.00	<i>\$37.30</i>	\$214,687.50	
GROUP C. PALMS FOR SUPPLY, D			ŀ	Υ I	74,505.50		\$217,875.00		9419,917.20		\$213,030.00		\$155,700.00		ŞZ14,007.50		
								1				1		1		1	
Scientific Name	Common Name				\$	-											
Ptychosperma elegans	Alexander Palm	7 gal	10	\$48.50	\$	485.00	\$65.00	\$650.00	\$144.00	\$1,440.00	\$65.00	\$650.00	\$50.00	\$500.00	\$43.75	\$437.50	
		15 gal	10	\$145.50	\$	1,455.00	\$120.00	\$1,200.00	\$244.00	\$2,440.00	\$125.00	\$1,250.00	\$95.00	\$950.00	\$112.50	\$1,125.00	
		25 gal	10	\$157.00	\$	1,570.00	\$300.00	\$3,000.00	\$344.00	\$3,440.00	\$215.00	\$2,150.00	\$175.00	\$1,750.00	\$187.50	\$1,875.00	
Bismarkia nobilis	Bismarkia Palm	field grown 15 gal	25 5	\$29.50 \$145.50	Ş ¢	737.50 727.50	\$37.00 \$150.00	\$925.00 \$750.00	\$39.44 \$395.00	\$986.00 \$1,975.00	\$65.00 \$185.00	\$1,625.00 \$925.00	\$20.00 \$125.00	\$500.00 \$625.00	\$30.00 \$137.50	\$750.00 \$687.50	
bisinar kia nobilis		25 gal	10	\$206.00	ې د	2,060.00	\$350.00	\$3,500.00	\$494.00	\$4,940.00	\$535.00	\$5,350.00	\$200.00	\$2,000.00	\$262.50	\$2,625.00	
		field grown	10	\$40.00	Ś	400.00	\$120.00	\$1,200.00	\$114.44	\$1,144.40	\$210.00	\$2,100.00	\$40.00	\$400.00	\$75.00	\$750.00	
Sabal Palmetto (PRICE PER TREE)	Cabbage Palm	field grown	50	\$450.00	Ŷ	22,500.00	\$350.00	\$17,500.00	\$594.44	\$29,722.00	\$195.00	\$9,750.00	\$250.00	\$12,500.00	\$337.50	\$16,875.00	
Veitchia merrillii	Christmas Palm	7 gal	25	\$116.00	\$	2,900.00	\$65.00	\$1,625.00	\$144.00	\$3,600.00	\$65.00	\$1,625.00	\$50.00	\$1,250.00	\$43.75	\$1,093.75	
		15 gal	25	\$95.50	\$	2,387.50	\$120.00	\$3,000.00	\$294.00	\$7,350.00	\$125.00	\$3,125.00	\$115.00	\$2,875.00	\$100.00	\$2,500.00	
		25 gal	25	\$145.00	\$	3,625.00	\$270.00	\$6,750.00	\$394.00	\$9,850.00	\$215.00	\$5,375.00	\$175.00	\$4,375.00	\$187.50	\$4,687.50	
		field grown	25	\$45.00	\$	1,125.00	\$40.00	\$1,000.00	\$48.44	\$1,211.00	\$65.00	\$1,625.00	\$25.00	\$625.00	\$25.00	\$625.00	
Cocos nucifera	Coconut Palm	25 gal	10	\$151.50	\$	1,515.00	\$300.00	\$3,000.00	\$395.00	\$3,950.00	\$325.00	\$3,250.00	\$175.00	\$1,750.00	\$212.50	\$2,125.00	
		field grown	20	\$45.00	\$	900.00	\$125.00	\$2,500.00	\$124.44	\$2,488.80	\$65.00	\$1,300.00	\$75.00	\$1,500.00	\$162.50	\$3,250.00	
Veitchia montgomeryana	Montgomery Palm	15 gal	10	\$135.00	\$	1,350.00	\$125.00	\$1,250.00	\$394.00	\$3,940.00	\$125.00	\$1,250.00	\$115.00	\$1,150.00	\$100.00	\$1,000.00	
		25 gal	25	\$181.50	\$	4,537.50	\$300.00	\$7,500.00	\$494.00	\$12,350.00	\$215.00	\$5,375.00	\$200.00	\$5,000.00	\$237.50	\$5,937.50	
		field grown	20	\$48.00	\$	960.00	\$40.00	\$800.00	\$59.44	\$1,188.80	\$65.00	\$1,300.00	\$25.00	\$500.00	\$37.50	\$750.00	
Roystonia regia	Royal Palm	25 gal	10	\$200.00	\$	2,000.00	\$350.00	\$3,500.00	\$394.00	\$3,940.00	\$325.00	\$3,250.00	\$175.00	\$1,750.00	\$200.00	\$2,000.00	
		field grown	10	\$45.00	\$	450.00	\$150.00	\$1,500.00	\$123.44	\$1,234.40	\$65.00	\$650.00	\$25.00	\$250.00	\$162.50	\$1,625.00	
Serenoa repens	Saw Palmetto	3 gal	50	\$35.00	\$	1,750.00	\$33.00	\$1,650.00	\$45.00	\$2,250.00	\$40.00	\$2,000.00	\$20.00	\$1,000.00	\$25.00	\$1,250.00	
		7 gal	50	\$63.50		3,175.00	\$75.00	\$3,750.00	\$165.00	\$8,250.00	\$80.00	\$4,000.00	\$45.00	\$2,250.00	\$62.50	\$3,125.00	
Thrinax radiata	Florida Thatch Palm	15 gal	20	\$120.50	\$	2,410.00	\$200.00	\$4,000.00	\$394.00	\$7,880.00	\$185.00	\$3,700.00	\$125.00	\$2,500.00	\$162.50	\$3,250.00	
		25 gal	30	\$256.50	\$	7,695.00	\$400.00	\$12,000.00	\$494.00	\$14,820.00	\$535.00	\$16,050.00	\$265.00	\$7,950.00	\$250.00	\$7,500.00	
GROUP C TOTAL					\$ 6	66,715.00		\$82,550.00		\$130,390.40		\$77,675.00		\$53,950.00		\$65 <i>,</i> 843.75	
Soil ammondmont	nor course for	<b>*</b>		г	ŕ	10.50		¢4.00		¢1E 00		\$0.4E		\$10.00		¢n er	
Soil ammendment	per square for	л			\$	10.50		\$4.00		\$15.00		\$0.45		\$10.00		\$0.85	
Plant removal/hedges by size/per	p up to 24	L		r	¢1	120.00		\$10.00		\$25.00		\$3.00		\$3.75		\$2.00	
	24-60					280.00		\$75.00		\$50.00		\$6.00		\$7.50		\$5.00	
	24-00			• L	٦٢			<i>ç, 5.00</i>	1	<i>\$33.00</i>	I	Ç0.00	l	<i>ç</i> ,.50	I	<i></i>	

Vendor Location Local Preference P-Card					M&M Corp estead, FL Class D Visa	VisualScape Inc. Miami, FL Class D M/C		Runway Growers, Inc Fort Lauderdale, FL Class C Visa		Dynaserv Hollywood, FL Class D Visa, M/C		Gardening Angel Parkland, FL Class C Visa, M/C		Plant Professionals Homestead, FL Class D Visa	
GROUP A. PLANTS FOR SUPPLY, DELIVERY AND INSTALLATION							<u> </u>					1		1	
60"-90"					\$400.00		\$150.00		\$100.00		\$10.00		\$25.00		\$7.50
GROUP D. TREES FOR SUPPLY A	ND DELIVERY ONLY														
Scientific Name	Common Name														
Taxodium distichum	Bald Cypress	3 gal	100	\$90.00	\$ 9,000.00	\$20.00	\$2,000.00	\$18.00	\$1,800.00	\$22.50	\$2,250.00	\$9.50	\$950.00	\$15.00	\$1,500.00
Krugiodendron ferreum	Black ironwood	3 gal	50	\$90.00	\$ 4,500.00	\$20.00	\$1,000.00	\$20.00	\$1,000.00	\$22.50	\$1,125.00	\$15.00	\$750.00	\$21.00	\$1,050.00
Bulnesia arborea	Bulnesia	3 gal	150	\$120.00	\$ 18,000.00	\$20.00	\$3,000.00	\$20.00	\$3,000.00	\$22.50	\$3,375.00	\$10.00	\$1,500.00	\$17.50	\$2,625.00
Lagersrtoemia indica	Crape Myrtle	3 gal	200	\$120.00	\$ 24,000.00	\$20.00	\$4,000.00	\$15.00	\$3,000.00	\$22.50	\$4,500.00	\$7.25	\$1,450.00	\$26.25	\$5,250.00
Citharexylum fruticosum	Fiddlewood	3 gal	50	\$80.00	\$ 4,000.00	\$30.00	\$1,500.00	\$20.00	\$1,000.00	\$22.50	\$1,125.00	\$9.50	\$475.00	\$15.00	\$750.00
Bursera simaruba	Gumbo Limbo	3 gal	50	\$50.00	\$ 2,500.00	\$30.00	\$1,500.00	\$15.00	\$750.00	\$22.50	\$1,125.00	\$10.00	\$500.00	\$17.00	\$850.00
Quercus Virginiana	Live Oak	3 gal	50	\$35.00	\$ 1,750.00	\$30.00	\$1,500.00	\$25.00	\$1,250.00	\$32.50	\$1,625.00	\$10.00	\$500.00	\$10.00	\$500.00
Swietenia mahagoni	Mahogany	3 gal	25	\$120.00	\$ 3,000.00	\$30.00	\$750.00	\$20.00	\$500.00	\$32.50	\$812.50	\$9.00	\$225.00	\$15.00	\$375.00
Cordia sebastiana	Orange Geiger Tree	3 gal	50	\$120.00	\$ 6,000.00	\$30.00	\$1,500.00	\$20.00	\$1,000.00	\$32.50	\$1,625.00	\$10.00	\$500.00	\$14.00	\$700.00
Coccoloba diversifolia	Pigeon Plum	3 gal	100	\$130.00	\$ 13,000.00	\$30.00	\$3,000.00	\$20.00	\$2,000.00	\$22.50	\$2,250.00	\$10.00	\$1,000.00	\$12.25	\$1,225.00
Chrysophyllum oliviforme	Satin Leaf Tree	3 gal	50	\$130.00	\$ 6,500.00	\$30.00	\$1,500.00	\$20.00	\$1,000.00	\$22.50	\$1,125.00	\$10.00	\$500.00	\$13.25	\$662.50
Pinus elliottii densa	Florida Slash Pine	3 gal	50	\$150.00	\$ 7,500.00	\$30.00	\$1,500.00	\$30.00	\$1,500.00	\$32.50	\$1,625.00	\$10.00	\$500.00	\$10.50	\$525.00
Ilex cassine	Dahoon Holly	3 gal	50	\$140.00	\$ 7,000.00	\$30.00	\$1,500.00	\$20.00	\$1,000.00	\$25.50	\$1,275.00	\$10.00	\$500.00	\$11.50	\$575.00
Conocarpus erectus	Green Buttonwood	3 gal	50	\$140.00	\$ 7,000.00	\$20.00	\$1,000.00	\$20.00	\$1,000.00	\$22.50	\$1,125.00	\$10.00	\$500.00	\$6.25	\$312.50
Eugenia axillaris	White Stopper	3 gal	50	\$150.00	\$ 7,500.00	\$30.00	\$1,500.00	\$30.00	\$1,500.00	\$32.50	\$1,625.00	\$10.00	\$500.00	\$14.00	\$700.00
Simaouba glauca	Paradise Tree	3 gal	50	\$150.00	\$ 7,500.00	\$50.00	\$2,500.00	\$25.00	\$1,250.00	\$32.50	\$1,625.00	\$10.00	\$500.00	\$13.25	\$662.50
Cordia boissieri	White Geiger Tree	3 gal	50	\$160.00	\$ 8,000.00	\$50.00	\$2,500.00	\$30.00	\$1,500.00	\$32.50	\$1,625.00	\$10.00	\$500.00	\$17.50	\$875.00
Mangifera indica 'Julie'	Dwarf mango 'Julie'	3 gal	450	\$150.00	\$ 67,500.00	\$50.00	\$22,500.00	\$50.00	\$22,500.00	\$32.50	\$14,625.00	\$25.00	\$11,250.00	\$43.75	\$19,687.50
Litchi chinensis	Lychee	3 gal	150	\$150.00	\$ 22,500.00	\$50.00	\$7,500.00	\$50.00	\$7,500.00	\$32.50	\$4,875.00	\$25.00	\$3,750.00	\$35.00	\$5,250.00
Persea americana	Avocado	3 gal	150	\$160.00	\$ 24,000.00	\$50.00	\$7,500.00	\$50.00	\$7,500.00	\$32.50	\$4,875.00	\$20.00	\$3,000.00	\$29.75	\$4,462.50
Averrhoa carambola	Carambola	3 gal	150	\$120.00	\$ 18,000.00	\$50.00	\$7,500.00	\$50.00	\$7,500.00	\$32.50	\$4,875.00	\$20.00	\$3,000.00	\$26.25	\$3,937.50
Synsepalum Dulcificium	Miracle Fruit	3 gal	50	\$140.00	\$ 7,000.00	\$50.00	\$2,500.00	\$65.00	\$3,250.00	\$32.50	\$1,625.00	\$20.00	\$1,000.00	\$35.00	\$1,750.00
Plinia cauliflora	Jaboticaba	3 gal	150	\$130.00	\$ 19,500.00	\$50.00	\$7,500.00	\$55.00	\$8,250.00	\$32.50	\$4,875.00	\$20.00	\$3,000.00	\$28.00	\$4,200.00
Canella alba	Wild cinnamon	3 gal	50	\$100.00	\$ 5,000.00	\$50.00	\$2,500.00	\$35.00	\$1,750.00	\$32.50	\$1,625.00	\$10.00	\$500.00	\$30.75	\$1,537.50
Lysiloma latisiliqua	Wild tamarind	3 gal	50	\$120.00	\$ 6,000.00	\$50.00	\$2,500.00	\$25.00	\$1,250.00	\$32.50	\$1,625.00	\$10.00	\$500.00	\$15.00	\$750.00
Conocarpus erectus 'Sericeus'	Silver Butonwood	3 gal	100	\$125.00	\$ 12,500.00	\$20.00	\$2,000.00	\$15.00	\$1,500.00	\$22.50	\$2,250.00	\$7.50	\$750.00	\$8.00	\$800.00
Myricanthea fragrans	Simpson Stopper	3 gal	100	\$140.00	\$ 14,000.00	\$65.00	\$6,500.00	\$20.00	\$2,000.00	\$32.50	\$3,250.00	\$7.50	\$750.00	\$6.75	\$675.00
Pinus elliottii densa	Florida Slash Pine	3 gal	100	\$120.00	\$ 12,000.00	\$50.00	\$5,000.00	\$30.00	\$3,000.00	\$32.50	\$3,250.00	\$10.00	\$1,000.00	\$12.25	\$1,225.00
Eugenia foetida	Spanish Stopper	3 gal	100	\$120.00	\$ 12,000.00	\$65.00	\$6,500.00	\$25.00	\$2,500.00	\$32.50	\$3,250.00	\$7.50	\$750.00	\$13.25	\$1,325.00
Chrysobalanus icaco	Red Tip Cocoplum	3 gal	100	\$130.00	\$ 13,000.00	\$25.00	\$2,500.00	\$10.00	\$1,000.00	\$7.50	\$750.00	\$7.50	\$750.00	\$6.25	\$625.00
GROUP D TOTAL			<u>.</u>		\$ 369,750.00		\$114,250.00		\$93,550.00		\$81,587.50		\$41,350.00		\$65,362.50
GRAND TOTAL					\$ 1,017,630.40		\$950,914.00		\$1,148,967.60		\$723,458.20		\$545,936.25		\$677,321.60

Local Preference Deduction

5% \$57,448.38 \$1,091,519.22 5% \$27,296.81 \$518,639.44